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Answer All questions.

1. With respect to a fixed origin O the lines /, and /, are given by the equations
Iy iy =14i—6j —13k + A(-2i + j + 4k) and
l ir=pi=Tj+a4k+pu(gi+2]+k)
where A and g are scalar parameters and p and ¢ are constants.
a) Find the value of ¢ if the two lines /, and /, are perpendicular.

Given that the two lines /, and /, intersect at point X. Find +

b) the value of p,

c) the coordinates of X, {

The point 4 lies on [, and has position vector6i — 27 + 3k .

Given that point B also lies on /, and that 4B = 24X .

d) Find the two possible position vectors of 5.

a) Let the position vectors of three points 4, B and C are given bya =3i+4;,

b=2i-3jand ¢=—i+ ] respectively. Show that g + 3b+ 5S¢ is parallel to the

b) Let a=i-2j+k, b=-2i+3j+k and ¢=—i+2;—3k. Find
L axb, bxc and (axb) (bxc),

il.  the acute angle between gand b.
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